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In the name of Allah, the Most Gracious, Al Craa 1) &) aes
the Most Merciful
Do not turn the pages of the test book i o Jd LAY Al S cilada i3 Y

Until your supervisor tells you to do so. Uy G piall
Olisla 1A LEAY) Baa
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Testing time: 2 hours

The Science and Technology mathematics -
Practice test has 13 test items.

General Instructions:

® You have to use a pencil to answer multiple-

O DY) A e Aadl palia )l Al aladiul gy o
choice questions or for drawings.

e gl (A Aaladin) (Say LS daata
e You have to use a pen to answer constructed

response questions. A AL e A1 (G el ol platid g e

e The test items are presented in English and
Arabic to help you better understand the
questions.

A plasy) g A el ally LAY Abid slae) o3 e
il A8y ylay Lgagh e cline bl

* Some of the |tem§ are muIt|pIe—ch0|ce items, 5y kel dlie (il iandl 5 L a0wka
and some require you to write a short
answer.

Jan )l Cpeat damie (e LAY AL e
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e Multiple-choice items have four alternative
responses. Mark your answer in the box
next to your answer choice .

e Mark only one answer for each multiple-
choice item. If you want to change your
answer, completely fill in the box for the
answer you do not want. If more than one
answer is marked, or if your answer is not
clearly marked, you will not receive credit.
In the sample below, the third answer
choice will be considered the student’s
response.
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e For the short-answer items you may answer
in either English or Arabic. You must write
your answers in the spaces provided in this
test book.

* You may use the blank pages at the end of
this test book to make notes or do
calculations, but you will not receive credit
for anything written on those pages.

If you wish to change any of your short
answers, make sure it is clear what your
response is. If there are two responses or
the response is unclear, you will not receive
credit.

Do not spend too much time on any one
item. If you find an item too difficult, do the
rest of the test and return to the difficult
item later.

Respond to all items, even if you are unsure.
You will not lose points for incorrect
responses.

You will be given a warning at half-time and
30 minutes before finishing time. You will be
given a final warning 10 minutes before
finishing time.

CSay Bl LAY ALY dually
gy Al A ke ARG Y
IS Laaddl laliad) b i) S

e A QA Cladall dlaiiy) eliay

el a) g caade LUK LAY Al S
e a2 Gle dhant Gl el Gl
ladiall 538 UJC 918 &;L_.,-ua Lﬁ‘

5 _opadll s (e gl i B e 1))
daual g dadid) LAY o (e W elilad

daaly e sl ol Gila) 5a 5 Als

al s Jlsw o LY 8 gl Uy gt Y
Oe AU Ji) Leaa Vlge cas g 1)

138 ) ae &5 LAY g Al Ay
e L Gl sl

ﬁgﬁ\h}@;_&?\@g&%i
a3 et 2 Y 4l G Lot 208
L )0 i oy Y 4l ua <l

m:)u;“)]@.\.ml\usjlbgﬂ)&me_\m
LS 4383 30 2 4l Jid s i 5l Caualia

B8 10 J 5_ual 5 e el o S
sl Al e

16 (« 4 dsia

2022 [ 2021— S ol pal) Jaadll — oyl GLEAYY — o o] 938N lusall g caledl jlasal) 12 cluzaly I




A sl el (B x Adle aidas 10 ) 1 00 Boke IS Al L) A s ilaale
Choose the correct answer for each of the questions from 1 to 10 by putting x
inside the square beside it.

LA dganal) & Jalsil) aa g 1

Find the indefinite integration below.

I(st +e™)dx

1
x4+ e +c¢

2
x®+2e” +c

1
5x6+5 e +c¢

O O O

5x® +2e* +¢

(815290 Jalsill aladin) dliCay) oLl 3gaaall e JalSill aa g 2
Find the indefinite integration below. (You can use integration by parts)

j 2xcosx dx

x2sinx+c
2xsinx+2cosx+c
2xsinx—2cosx+c

—2xsinx—2cosx+c¢

(1 O O O
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E5 & (0 Ola¥) gl Jaad eWL ML saall ) p/(x) = x(60 X2 +30x) ddall s 3
O ciale 1) lal o sl ciliag £ 6l 13 G daall craad) dpaS x Gua (ol (a (e
QR - 50 $& Gl (a5l 13 (e dpaS (o) ¥ Ladie Jaal) Mt laka
oA Al aa
The formula P'(x) = x(60 x> + 30x) gives the marginal profit in riyals of a cheese

shop from selling a certain type of cheese, where x is the quantity of cheese
sold of that type in hundreds of kilograms. If you know that the amount of
"profit" of the shop when it does not sell any quantity of this type of cheese is
QR - 50.

Find the profit function.
P(x)=20x>+15x%> +50

P(x) =15x> +10x* —50

P(x)=30x" +10x> +50

1 O O O

P(x)=15x* +10x> —50

8 2
[faax =3 5 [afdx =-20 ofs Alaia s fix) of el 13 4
5 5 . ;
.j[af(x)—z]dx 2l
2 8 ’
If f(x) is a continuous function, and I4f(x) dx =-20 and jf(x) dx =3
5 5

Find j [3f(x)—2]dx .
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B A g Aaiilinn dadad (e (g gSall g colial fx) Adlall Al Jdadl ) ki 5
Look at the graph of the function f(x), which consists of a line segment and two
quarters of a circle.

(8,4)

y=f(x)

0 jof, 0) 8 12 16 X
-4

16
Find the definite integral. _[ f(x) dx A gdaal) Jalsil) dad aa g
0

-16

16

8n-16

8n+ 16

(1 O OO [

O0Sx<m &aox ey y=sin(x) a\ﬁ\MSAM\M\RQSﬂ 6

% saall Jsa R dabual) O jgd (8 (iUl Al gal) anad) dany Ay Laa gl
let R be the region bounded by the function y= sin(x) and x-axis where 0< x <rt.

Which of the following gives the volume of revolution generated by revolving the
region R around the x-axis?

V:rj[sinxdx

0

V = [sin’ x dx
0

V = [sin x* dx
0

O O O

V =t |sin’ x dx
0
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PQ=(3,2V3,0) 4xidlls P(-2,-43,-1) Bt cisry g
¢ Q Al cilifilaa) Lad
If the point P(-2, —\/5, —%) and the vector E= <3, 2\/5, 0>.

What are the coordinates of the point Q?

Q(l ’ \/§ 1_%)

0(5,3J§,%)

(1 O O

Q(_ll_\/§/ %)

[]

Q(_51_3'\/§/_%

v=(-1,1)5 u=(1,1) s3I g
Cv 9 u Crgadall Co AnBl gl Ay g 30 (uld La
Let the two vectors u= (1, 1> andv = <—1, 1> .

What is the measure of the angle between the two vectors u and v?
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U1 S pal) daall Auudadl) 5 ) gual) a4l
Find the polar form of the complex number below.

z=1+3i

(cos T yisin E)
6 6

2(cos E+i sin E)
6 6

(2 cos L +isin E)
3 3

I I I

2(cos E+i sin E)
3 3

4
(B30 (52 Al Jlenind) dliSay) {Z(COS%H’sin%ﬂ dad 13l L
n |
Find {2(c052+ isinzﬂ . (You can use De Moivre’s theorem)

-32
-16

O

16

End of the multiple-choice questions. .4 g gall ALl cagil)
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A asadall §18N A dlida) cais) (13 ) 11 o ALY e 4laY) sie
For questions 11 through 13, write your answer in the spaces provided, and show your work.

4,012 11
A. Find. j (x +1)e™ ***dx Aagl A
Show your work Jall il ghd may
4
. 3 -
B. Find. [——ax A
X +x-2
Show your work Jall & ghd mua g
4

16 (» 10 4ada
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C. Find. jlnx dx .4937 .C

Show your work Jall &l gl i g
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L0 14 12

. x=6 A x=1 e g(x)=

X [

A4 iatay _f(x):% A4 Jaie ( dalal) 2250 A

A. Find the area between the two curves f(x):% and g(x):% from x=1 to

x=6.

Show your work Jall il ghd may
16 (» 12 4ada
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oLl ALalinl) Aslaall alal) Jad) a2 4 B
B. Find the general solution of the differential equation below.

%=3x2y— 2xy

Show your work Jall Gl ghd iy

OIS 48kl At sl aBgag ¢ V(t)=52— 9.8t dc yun arfica bd o dak s .C
s(0)=4 uc
t =10 iic aral) adga 2a g
C. A particle is moving in a straight line with a velocity of v(t)=52—9.8t,

and that the position of the body in the instant of its launch was at s(0) = 4
Find the particle's position at t =10

Show your work Jall & ghid muda g
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:\QJA 14 13

o Jbesa 43932 LY gy 460 mph As s 295° Jleddl g Jlusa A1 5 8Lk (3laT A
25 mph 4y 210° Ll Jladdl
Bilal) de pa Jiag oA Axiiall (A ja 33 g
A. An airplane flies on a bearing 295° at a speed of 460 mph, however a 25 mph

wind is blowing on a bearing 210°.
Find the two components of the vector that represents the velocity of the plane.

Show your work Jall &l ghd muay

v=6i—4j+2k 4aidl oS 1Y) B
. v Aadial) olad) (uSe Aaladlg Ciaag 5 Algh g3 y Aadiall 2o f

B. If the vector V=6i—4j +2k
Find a vector u of length 5 in the opposite direction to the vector v.

Show your work Jall &l ghd may

16 (» 14 dada



13

C. If Zi=4+i, Z,=2-5i Qs ¢
i. Find in the standard form. Z1+127; Al 3 guall uﬁ gl i
ZEENY
ii. Find in the standard form. Z1.2, Aouldl) 5 ) guall A 2 gl i
Show your work Jall Gl ghd ma
3

. Z=8 Syl 2l Apacil) Hgdall 2agl D

D. Find the cubic roots of the complex number Z = 8.

Show your work Jall &l ghd muda g
4
End of all questions. ALY aan gl
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